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Fiber 768, dchi2frac= 1.0
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Fiber 2665, dchi2frac= 1.0
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Fiber 4201, dchi2frac= 1.0
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Fiber 579, dchi2frac= 1.0
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Fiber 1374, dchi2frac= 1.0
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Fiber 1099, dchi2frac= 1.0
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Fiber 2979, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 4 6 8 10

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 3 4 5 6 7 8 9

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.00.50.00.51.01.52.0

Fiber 2118, dchi2frac= 1.0
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Fiber 1402, dchi2frac= 1.0
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Fiber 1023, dchi2frac= 1.0
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Fiber 2434, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0 1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model

0 1 2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

1.251.000.750.500.250.000.250.50

Fiber 2030, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1.61.82.02.22.42.62.83.03.2

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 2833, dchi2frac= 1.0
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Fiber 2764, dchi2frac= 1.0
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Fiber 4344, dchi2frac= 1.0
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Fiber 2947, dchi2frac= 1.0
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Fiber 1390, dchi2frac= 1.0
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Fiber 4146, dchi2frac= 1.0
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model
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Fiber 2788, dchi2frac= 1.0
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Fiber 1373, dchi2frac= 1.0
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Fiber 848, dchi2frac= 1.0
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Fiber 4475, dchi2frac= 1.0
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Fiber 2019, dchi2frac= 1.0
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Fiber 2855, dchi2frac= 1.0
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Fiber 1364, dchi2frac= 1.0
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Fiber 580, dchi2frac= 0.9, EXCLUDED
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Fiber 998, dchi2frac= 0.9, EXCLUDED
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model
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Fiber 2145, dchi2frac= 1.0
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model
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Fiber 4318, dchi2frac= 1.0
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Fiber 2624, dchi2frac= 1.0
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Fiber 655, dchi2frac= 1.0
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Fiber 1423, dchi2frac= 1.0
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Fiber 2307, dchi2frac= 1.0
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Fiber 2014, dchi2frac= 1.0
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Fiber 2397, dchi2frac= 1.0
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Fiber 4490, dchi2frac= 1.0
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Fiber 1031, dchi2frac= 1.0
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Fiber 894, dchi2frac= 1.0
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Fiber 2875, dchi2frac= 1.0
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Fiber 4177, dchi2frac= 1.0
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Fiber 2440, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 0 1 2 3

5 0 5
5.0

2.5

0.0

2.5

5.0
model

2 1 0 1 2 3

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.80.60.40.20.00.2

Fiber 1498, dchi2frac= 1.0
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Fiber 2812, dchi2frac= 1.0
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Fiber 967, dchi2frac= 0.9
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Fiber 609, dchi2frac= 1.0
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Fiber 4005, dchi2frac= 1.0
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Fiber 2463, dchi2frac= 1.0
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Fiber 4065, dchi2frac= 0.9
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Fiber 4175, dchi2frac= 1.0
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Fiber 4043, dchi2frac= 1.0


